H & 0l & AHS B Ml A

0248 =0ila eS| &Hl 2024-02-02 10:11:35

M E22e|A A
B qge 22
el NYE FA2d (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SR A A 24,446,895 21,286,893 3,160,002
= 3,672,788
[ 150,000
ES 684,461
< 19,939,646
AL 2el 19,081,542 16,168,922 2,912,620
= 3,672,788
[ 150,000
ES 684,461
== 14,574,293
AL =Xz 17,954,647 15,196,383 2,758,264
= 3,672,788
= 150,000
ES 684,461
S 13,447,398
=Z AL SUEXNS ZH| 300,000 2,000,000 1,700,000
[ 150,000
= 150,000
401 AIEHIZ SR HYI 300,000 2,000,000 1,700,000
= 150,000
= 150,000
01 Al&HI 297,840 1,992,800 1,694,960
OsSZAK SUASXNS FH 297,840
s 148,920
== 148,920
03 AIZ2THYI 2,160 7,200 A5,040
OSZ A SdFEXS FH| 2,160
[ 1,080
= 1,080
HE22E H2ZAIE sl 70,000 70,000 0
401 AIEHIZ R HYI 70,000 70,000 0
01 Al&HI 69,370 69,400 A30
OHlIE28 MZAIE sXl2cl 69,370
03 A2 THYI 630 600 30
OHIERZE MZAIE 72 630
WAL Y & 22525 800,000 900,000 100,000
401 AIZHIX S THE 800,000 900,000 100,000
01 A28l 793,700 894,330 100,630
Ok=zgXe 4X 198,560
Oxtg STHEtAlE EX 49,460
ORI =244 148,920
OREXNS HHAIE= &X 99,100
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2A:
X XH -
o e

=aak

SE22ACAIE A
e 2e|
AN RX2

RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
| O=% mzt 24 2,880
SEAL OHEAIE AXI(HEALY) 4,800,000 750,000 4,050,000
401 AlEHIZ S 0HBI 4,800,000 750,000 4,050,000
01 AlZHI 4,787,040 746,000 4,041,040
O=Zaxt etEAIE 4X 4,787,040
03 Al = THHI 12,960 4,000 8,960
O tMAIE £X 12,960
e X2 1,000,000 1,600,000 600,000
401 Al HIZL S 0HYI 1,000,000 1,600,000 600,000
01 Al&H| 993,700 1,592,000 598,300
OXgE RS 993,700
03 A2 THYI 6,300 8,000 A1,700
OXgE RS 6,300
WEAMD 2 R M (HEALY) 840,000 840,000 0
401 AIEHIZL R OHYI 840,000 840,000 0
01 AlZHI 834,741 834,708 33
OusALd &2 e 834,741
03 A& S CHYI 5,259 5,292 A33
OusSAt 2= e 5,259
LOISS A JHEAISE (HEALS) 210,000 960,000 A750,000
401 Al HIZL 201 210,000 960,000 A750,000
01 A=l 208,488 955,000 NAT46,512
OE2s 79 A 208,488
03 AIE R 0HHI 1,512 5,000 A3,488
Okl2a79 HE A 1,512
UHElol B339 HEAIS (M EALY) 180,000 300,000 120,000
401 AIEHIZ SR OHYI 180,000 300,000 120,000
01 A&l 178,704 297,840 A119,136
O0gl0l 579 e At 178,704
03 A2 CHYI 1,296 2,160 N804
O0igl0l B39 e A 1,2%
BHE 2 XotxE |Al2e 2,286,994 1,348,919 938,075
201 L= 639,994 507,919 132,075
02 2324l 639,994 507,919 132,075
OMIIZ(HY, XGHKE, 2elARa S) 358,288
Ot XRY Hales, iV, 824Es 78,984
O&J|, Sl AT 43,637
O8Il & ~ZAIE EIIaM=E 7,500
OXIotatE Bi+=8L =Xl2cl 72,000
OHY, Xotite Latzel(FEa ¥ =4) 46,585
OHE ¥ XlotxtT SMAIZEH 33,000




2A:

X XH -
o=

SE22ACAIE A
e 2e|

el XN =72 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

401 Al HIZL 2018 1,647,000 841,000 806,000

01 Al&H| 1,641,071 837,000 804,071
OHg % Kottt 2dac|Eed 1,641,071

03 AIZ2THYI 5,929 4,000 1,929
OHE % Kottt 2g&cEH 5,929

WYy S A= BHES & B 500,000 1,838,000 1,338,000

401 AIEHIZ SR THYI 500,000 1,838,000 1,338,000

01 AlZ8| 496,400 1,832,000 1,335,600
Oug S ANEE 889 & E+3AM 496,400

03 Al 20HHI 3,600 6,000 A2,400
Oug S ANdE 8289 & 2+3AM 3,600

Sug fA2el 144,900 100,400 44,500

201 er=23| 32,900 17,400 15,500

02 S3=4gHl 32,900 17,400 15,500
OS=ng(Uatiw) dJ,88 8 32,900

401 AlZHIZ SO 112,000 83,000 29,000

01 A28l 112,000 83,000 29,000
OS=ug FAlZcd 112,000

ANge Jt2S EH 500,000 0 500,000

401 AlEHIZL SO 500,000 500,000

01 Al&HI 496,426 496,426
OXgE Ji2E &l 496,426

03 Al 2 CHYI 3,574 0 3,574
OXgE Ji2E &l 3,574

N A= 150,000 0 150,000

201 fet= 3| 5,000 5,000

03 A= 5,000 5,000
Oz 2 At A A &S JHEA 5,000

405 KHaHE SH 145,000 145,000

01 AL =S F = 145,000 145,000
OFA =0 TE &I+ 145,000

CZ2LHEAl EHI 434,461 500,000 65,539
ES 434,461

401 AIEHIZ SR OHYI 434,461 500,000 65,539
EN 434,461

01 AlZH| 434,461 496,400 261,939
O2-HIAl EH 434,461
e 434,461

7.919. 2 UldH SFAIL(XLE 2X) 4,026,764 0 4,026,764
= 3,672,788
[ 363,976

401 AIEHIX S0 4,026,764 0 4,026,764

o
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M E22e|A A
I Y 2e
ol AESA SE & BAAE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAlged I=Hl 1,600
OAEEEl WEEA 5,500
OBy =+=H| 1,350
OAIEEHl & Al sXi2ell 6,000
SEANE=g MEINE U= 1,752
202 04l 16,200 18,000 21,800
01 =LHNHI 16,200 18,000 1,800
OAHESAt SE A8 16,200
207 ARl 8,000 8,000
03 Al 2HI 8,000 8,000
O22d JIXHH & 8,000
405 KHaHE SH 165,000 165,000
01 TR ESF SHI 165,000 165,000
OHESAI SEAEE 2E 165,000
HH2IAH(Z22AC/AI L) 5,323,853 5,076,471 247,382
el 2| 5,222,986 4,972,161 250,825
el 2d| 5,222,986 4,972,161 250,825
101 21A4H| 4,821,128 4,708,049 113,079
01 2= 2,602,783 2,390,749 212,034
oJlzs 1,775,794
—ASH 306,189
42(4%) 98,946,000 18 98,946
58 69,081,000& x3H 207,243
— Bk 1,469,605
62 4,392, 7002 128 * 128 632,549
= 3,125,500 x 12« 12 450,072
= 2,459,900 x10E 123 295,188
= 1,912,400 x4 x 122 91,7%
o832+ 104,101
(OFSREES] 103,313
—-JEg 26,520
B <= Xt 40,0003 «20H 122 9,600
Y NDNTE 30,0002 *13F 128 4,680
SMAHA 70,0002 x11&~ 128 9,240
- A Ol= XHA 110,000 x1&* 122 1,320
=) 20,0002 +7E* 122 1,680
-d2sdits 32,880
- 25014 130,000& 7+ 123 10,920
- 208014 110,000& x32* 123 3,960
- 158014 80,0002 6 * 122 5,760
- 108014 60,0002 x2& * 122 1,440
-580]&t 50,0002 x18H = 12& 10,800
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M E22e|A A
M HHPAIH|(Z=22IAE L)
SERRIEESS(T (Shol: &2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-UesfE=g 17,873
= 17,873
4= 6,703,000 x1H 123 4. 1% 3,298
52 4,219,000& 6B+ 123 *4. 1% 12,455
6= 4,308,000 *1H 122 %4 1% 2,120
-Jlsd2se 9,960
52 50,0008 x1&* 122 600
o= 30,0002 x18F 128 6,480
895 20,0003 x12E 128 2,880
—-Jl=d82s80Ht= 5,880
- LA 30,000« 11H*12& 3,960
28(6,72) 10,0003 2123 240
28(8,92) 20,0002 *7& x 122 1,680
-AE2R+E(ET)
50,0002 x16E 12& 9,600
-2ESREE 50,0002 x1&* 12 600
O=0I58+< 30,600
o=z 226,898
- AM2RA22FE 197,530
—MHaHCHE] Hl&2R(=2242() 29,368
OF A ZAHI 140,000 <382+ 122 63,840
Og &=yl
1,469,605,000& / 122 +60%+23] 146,961
OS2 &l 48,976
- HSH
306, 189,000& / 12+78%+*86%+1/30% 12 6,847
=
1,469,605,0002 / 12x86%+1/30% 12 42,129
OFS= BN 102,300
- gy 102,300
= 400,000 «1H*12& 4,800
= 250,000 «3H 122 9,000
o= 185,000 x13& «12& 28,860
= 180,000 x14H 12& 30,240
895 175,000 x 14«12 29,400
03 SRH(RINAHA) 222+ 2,218,345 2,317,300 98,955
Ott=RAEx 55,530
-Jl== 3,413,260« 1E« 122 40,960
-HYRIRE2ZSY
19,1612 *150%* 15A| 2+ x 1 * 122 5,174
-t 19,1613 +8AI2H* 152 x1H 2,300
-S&3Hl 3,413, 2602 «60%+22| x 18 4,0%
—-telg syl 50,0002 x1& 122 600




M E22e|A A
M HHPAIH|(Z=22IAE L)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—FAZ Al 140, 0002412+ 122 1,680
-254g 60,000211% 122 720
OEEsARL 2,162,815
-J123 3,636,360 %362 * 122 1,570,908
— o1, 02 BYDR4AY
20,3803 #150%+ 15A1 2H+36 2 * 12 198,094
—Axt=g 20,3803 *8A| 2+ 152 x36E 88,042
—g& S0l 3,636,360 «60%+22| *36H 157,001
- 2lEsH| 50,0003 x 122 «36& 21,600
-tE=g 31,800
BN, 40,0003 x26H * 123 12,480
P E 30,0002« 15« 12& 5,400
- SMAHA 70,0002+ 12 7,560
- A Ol Xt 110,000& x3&* 123 3,960
- IS 20,0002 x10E ~12& 2,400
- dAS A 140,000 <362+ 122 60,480
- XY 40,0002 x10H* 122 4,800
2528 30,000
04 HSRESS 401,858 264,112 137,746
4 BRA(RIHA)22N BEERES S 401,858 264,112 137,746
OYEII2RE3(4UEE) 246,858
ORIAHA2=2 A B XS 185,000
Jl=23H| 100,867 104,310 A\3,443
JI=23Hl 100,867 104,310 A3,443
201 ger= 3| 48,397 49,970 A1,573
01 AtR2tc|HI 45,417 46,990 A1,573
OJl2+EHl 6,327
OJl=sgtl 9,990
O=2g+¢ 29,100
-3 7,140
-=% 21,960
02 s3=gHl 2,980 2,980 0
OoRERs 2,980
-3 2,500
—get 480
202 04dl 29,970 33,300 A3,330
01 2L AL 29,970 33,300 23,330
OJ1=2048I 29,970
203 =4l 15,300 13,840 1,460
01 D22 HARFA| 3,300 3,300 0
(@FATS; 3,300
02 FRItAHA =AY 3,000 1,480 1,520
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H & 0l & AHS B Ml A

0248 =0ila eS| &Hl 2024-02-02 10:11:35

o LR
SA - ZE - B2(30) - HRA - B of v G o HIDE2
CEAIMBASEX LA 18,948,756 20,593,352 1,644,506
= 5,577,776
[ 300,000
ES 680,000
< 12,390,980
AL 2el 16,644,941 17,996,623 1,351,682
= 5,577,776
[ 300,000
ES 680,000
== 10,087,165
AL =Xz 16,923,263 17,264,174 A1,340,911
= 5,577,776
= 300,000
ES 680,000
== 9,365,487
=Z AL SUEXNS ZH| 600,000 4,670,000 /4,070,000
[ 300,000
= 300,000
401 A2 HIZL R 0HbI 600,000 4,670,000 /4,070,000
= 300,000
= 300,000
01 Al&HI 596,220 4,657,400 N\4,061,180
OsSZAK SUASXNS FH 596,220
s 298,110
== 298,110
03 AIZ2THYI 3,780 12,600 A8,820
S3MA SUASE XS | 3,780
[ 1,890
= 1,890
wWSotA A AL HH 380,000 660,000 /280,000
EN 380,000
401 AIZHIX S0HH 380,000 660,000 280,000
e 380,000
01 Al&H| 380,000 656,000 A276,000
OusSotd AZAIE EHl 380,000
ES 380,000
i<~ ES=2 Zd| 200,000 650,000 450,000
401 AlEHIZL SO 200,000 650,000 450,000
01 Al&HI 198,560 645,400 N\446,840
Ot~ =g==2 4| 198,560
03 Al 2 HYI 1,440 4,600 A3,160
O+~ 2g==2 4| 1,440
WSAD Ol & 2188+ 420,000 530,000 A110,000
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2A:

CRACIMBASER L

BH: YC el
el XN =72 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 420,000 530,000 A110,000
01 Al&H| 416,976 527,000 110,024
OuSAtD o & 252+ 416,976
03 AIZ2THYI 3,024 3,000 24
OUSAtD o € 252+ 3,024
S EXAS (HEAY) 3,200,000 680,000 2,520,000
401 AIEHIZ SR THYI 3,200,000 680,000 2,520,000
01 AlZ8| 3,191,360 675,200 2,516,160
SBEEXIAY 3,191,360
03 Al 20HHI 8,640 4,800 3,840
OEZ= &AM 8,640
AL 28 2 64,697 64,697 0
101 @124H| 25,637 25,637
MU IIRINZZE2NSES 25,637 25,637
Ott=2& 23,086
—-J=2s 15,513
— XY 1,164
- &S otd| 1,562
- NS A 1,680
—Al2te2f g 2,457
-25)K= 240
—-=Eg 480
OgdRg=s 2,551
—-4=EE= 2,551
201 ger=3| 39,060 39,060
02 S3=gHl 39,060 39,060
OZZ a2 HAl 15,636
—&hols=E 1,800
-SHe3 (Y, AgLs S) 1,200
-&JI= 9,600
A 9,600
— S OIAHIAIAE 3,036
@Jul=d:] 8,064
-2x24d 5,376
—HRHE 2,688
OAI2EBI= X 15,360
—E M X2t 8,000
- M3SAESAHEE S8 4,600
- HEH == 1,320
- ALHNEEY =2 1,440
N 7X2el & HEa+Y 461,779 444,668 17,111
101 eI24d| 56,980 37,891 19,089
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2A:

CRACIMBASER L

I YT 2e
el NYE FA2d (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
wEg S AES 8589 & B+ 650,000 830,000 180,000
401 Al HIZL 201 650,000 830,000 A180,000
01 Al&HI 645,905 825,300 A179,39%
Oug S ANds 82489 € 2= 645,905
03 AIZSTHYI 4,09 4,700 AB05
Oug s ANde 8889 € 2=+ 4,095
wg s Wildsgiss € HWa2H 22,000 350,000 328,000
401 AIEHIZ SR OHYI 22,000 350,000 /328,000
01 Al&HI 21,763 348,000 A\326,237
OUAEsEI & HAZASA 21,763
03 Al 20HHI 237 2,000 A1,763
OUAEsEI & HAZLSA 237
S=ug 2el 121,880 121,880
201 er2 3| 11,880 11,880
02 S3=4gl 11,880 11,880
OREHAIAE 1,320
Ostes 2,160
O388= 8,400
401 Al HIZL 01| 110,000 110,000
01 Al&H| 110,000 110,000
OHEANAE X2l L HEM0IH 24
29 110,000
e S SEel E 300,000 250,000 50,000
e 300,000
401 Al HIZL 201 300,000 250,000 50,000
ES 300,000
01 AlZ8| 300,000 248,200 51,800
Oxtges=Etel gl 300,000
E 300,000
SHTEZ FHI(HEAIY) 2,200,000 500,000 1,700,000
401 AlZHIZ SO 2,200,000 500,000 1,700,000
01 A28l 2,192,080 496,400 1,695,680
O =2 Hd| 2,192,080
03 A& CHYI 7,920 3,600 4,320
OLdAE=Z &l 7,920
LOIES T JHMAIY (HEALY) 200,000 500,528 A300,528
401 AlEHIZ 2018 200,000 500,528 A300,528
01 Al&H| 198,560 496,928 A\298,368
OL257% JHE ALY 198,560
03 AIESTHYI 1,440 3,600 A2,160
OL0257% A 1,440
2 ¥ 29 BX5E FH| 500,000 2,234,401 A1,734,401
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2A:

X XH -
o=

CRACIMBASER L
e 2e|

el NYE FA2d (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 500,000 2,234,401 1,734,401
01 Al&H| 496,400 2,223,401 21,727,001
Otz ¥ 29| 252 FH| 496,400
03 AIZ2THYI 3,600 11,000 AT,400
O & &2 4= FH| 3,600
HElol B339 HHAS (HEALY) 110,000 210,000 100,000
401 AIEHIZ SR THYI 110,000 210,000 100,000
01 AlZ8| 109,208 208,488 299,280
O0glol 2579 ALY 109,208
03 Al 20HHI 792 1,512 AT20
O0lgl0l 2579 ALY 792
7.919. 2 UldH SFAIL(XLE 2X) 6,492,907 0 6,492,907
= 5,577,776
< 915,131
401 AIZHIX S0HH 6,492,907 0 6,492,907
= 5,577,776
= 915,131
01 AlZ8| 6,492,907 0 6,492,907
07.9~19.32 Tloi STPAMS(XLE EX) 6,492,907
= 5,577,776
= 915,131
Far-—F{ul EENRE 721,678 732,449 A10,771
g & FHl |X2t 677,678 633,449 44,229
201 er23 | 677,678 633,449 44,229
01 At2teltl 454,024 382,436 71,588
OLEEZ Sda 600
OULISH(ZZ& s, odsl) 1,800
OANIXtE Hi=XclAld =Xl 2,000
OXNZE RA2e| 22tEH| Xtz 449,624
2 s5=g4l 223,654 251,013 A27,359
OZE2SZMA 16,095
-28= 10,700
INESPN; 7,200
Far=PIp| 3,500
-ANSI SZHH 252 200
- NHSHA 1,410
—ZIIBAM=E 865
- NS XHE A 540
- AEIIHZ A 325
— ROIHHIAI AR (R XIE) 2,880
O3REE a2z & 2zd| 500
- X 2843 500
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2A:

CRACIMBASER L

BH: YC el
el AL 72 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAlE &I Xl 128,305
—AHEJIAH, E8l =AY 22,552
—H&JH, 38l == 105,753
OXNgE 28 Xtg SsAl2el| 78,79
AN =S 44,000 99,000 55,000
405 AHaHE S 44,000 99,000 55,000
01 IR =S F = 44,000 99,000 /55,000
OWA =t 44,000
YRR (22N LS 2,303,815 2,596,729 N292,914
el 2E | 2,267,439 2,559,089 A291,650
eIgE3| 2,267,439 2,559,089 A291,650
101 e/24d| 1,974,962 2,126,552 151,590
01 2= 985,888 935,937 49,951
OJlzs 662,894
-52 6,844, 9503 < 1H« 122 82,140
—6= 4,341, 7002 «3H 122 156,302
= 3,452,600 «6F « 122 248,588
-85 2,263,500 «4E«12& 108,648
-9= 1,867, 1002 x3E « 12 67,216
odz2+¢ 40,484
Od2=gitits 10,560
—25401& 130,000& x 12+ 123 1,560
—2040/& 10,0003 x 1= 123 1,320
— 155014 80,0002 x4 x 122 3,840
—10=01& 60,0002 x2& * 12 1,440
-540l& 50,0008 x4 x 122 2,400
Oliesa+¢ 1,709
OtE+¢ 13,560
— B 40,0002 x0* 122 4,320
P E 30,0008 +x6& * 122 2,160
== \DNJE! 70,0002 5 122 4,200
-4 0l X4 110,000& x2&~ 123 2,640
—JIEPI=E 20,0002 x18~ 122 240
Ofgd22+E(23)
50,0002 x6& * 122 3,600
OJled=2=E 5,400
-58 50,0001 * 122 600
—675 30,0002 x10E «12& 3,600
-8-93 20,0002 +52« 128 1,200
OJl=d2=gHt3 2,040
—IIAk 30,0002 28 x 122 720
— &HHIIAF 20,0003 18122 240
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2A: E222AEALASRX A
M HYRIAIH(E222IAIEASEXA)
chol: ol (19 @)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
-2&AB6,73) 10,0003 x3H + 122 360
-2%3(8,93) 20,0002 3« 12& 720
Oz 107,039
— A2 22 85,629
— MoHCHE] HIAZ2 R 21,410
OFAZ A 140,0002 x 16 =123 26,880
OZFE St 580,754,000 / 128 «60%+23] 58,076
OdItE 4| 18,486
—ASH
82,140,000 / 12x78%+86%+1/30% 12 1,837
—-E=H 580,754,000 & /12x86%+1/30% 12 16,649
OXZEXH| 35,160
-5 250,000 x 18+ 123 3,000
—-6= 185,000 *35 12 6,660
-7=2 180,000 x5 » 123 10,800
-892 175,000 x7H 12 14,700
03 SRH(RINHS) 22X 2+ 989,074 1,190,615 A201,541
oz 989,074
-J|I23 3,556,610&x17H *12& 725,549
—01F - OR! BU224Y
19,6502 * 150%* 15 A1 2120 S« 17H 0,194
- Xt 19,6503 *8A| 2+ * 152+ 17 40,086
—-GES0HI 3,556,610 x60%+23| * 17H 72,555
—erasyl 50,0003 * 129 E*17H 10,200
—HAZAH| 140,000 *17H+12& 28,560
-X&¥Y 40,0002 +4H*12& 1,920
-2 930
-IIE==Y 19,080
- BH Xt 40,0003 *14Z = 12& 6,720
B PAE 30,0002 =8+ 12& 2,880
S M 70,0003 x7H*12& 5,880
A 0l At 110,000& 2F + 122 2,640
- J|EF 20,0003 x4F 123 960
34 HAZ2RE3S 2R, 477 432,537 140,060
M BSRHE(PINHS)2ZX E828€=2 S 2R, 477 432,537 A 140,060
ORIAHL2 2N HEREI(4UEE) 112,477
OSE &AM EAZ 180,000
238l 36,376 37,640 A1,264
J|=2Z| 36,376 37,640 A1,264
201 B2 AL 14,916 15,520 604
01 A=R2teld| 14,19%6 14,800 2604
OJ|2+=2H| 2,736
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A £ 0 & A

Al A

0248 =0ila eS| &Hl 2024-02-02 10:11:35
A EZ22AE LG RN A
o s el
el YT =X2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CR2ACIMSAHR RN 10,370,758 14,625,231 AN4,254,473
= 2,277,500
== 8,093,258
Age 2el 8,381,837 12,190,562 A3,808,725
[ 2,277,500
= 6,104,337
Age RX2 8,029,807 11,504,665 A3,474,858
= 2,277,500
=S 5,752,307
FEEZ RRMH(HEALY) 1,596,000 704,000 892,000
401 Al HIZL 201 1,596,000 704,000 892,000
01 Al&H| 1,590,255 699,600 890,655
ORIEEZ PERMH 1,590,255
03 AIZSTHYI 5,745 4,400 1,345
ORIEEZ PXRHH 5,745
SZ AL SULEXNS ZH| 4,555,000 4,000,000 555,000
[ 2,277,500
= 2,277,500
401 AIEHIZ R 0HYI 4,555,000 4,000,000 565,000
= 2,277,500
=S 2,277,500
01 Al&H| 4,542,702 3,989,200 563,502
OSZ AN S1EXY HH| 4,542,702
= 2,271,351
< 2,271,351
03 AlZ = THHI 12,298 10,800 1,498
OSZ A SdFEXS FHl 12,298
[ 6,149
= 6,149
i<~ ES==2 Zd| 230,000 250,000 /20,000
401 Al HIZL 201 230,000 250,000 /20,000
01 Al&H| 228,344 248,200 A19,85%
Ot~ =g==2 4| 228,344
03 Al 2 HHI 1,656 1,800 A4
Ot 282 &bl 1,656
WSAD Ol & 2188+ 410,000 550,000 140,000
401 Al HIZ S OHbI 410,000 550,000 140,000
01 AlZ2H| 407,048 546,600 A139,552
OuSAtL Ky & g2+ 407,048
03 A& CHYI 2,952 3,400 A448
OUSAMD U € 252 2,952
AL 28 2 52,251 53,651 21,400
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A E2EAILALEX A
BH: YC el
el XN =72 EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
OUsSHHAIE HE 71,000
O=ZA4E M= 30,000
OMolitizE M= 65,000
OUMES 20,000
301 LENZ 7,680 7,968 A288
11 HAIMHIXIZ = 2,080 2,368 A288
Okz2+d HRUS 480
Okz2+2 ZaMSHAIZI 600
OL2E+3 E2T AHAIE 1,000
14 J|EtE2a=S 5,600 5,600 0
OXgE X2l Oioikt 24 5,000
OOrds= AtMIXel &l 2 600
S AL &) 90,000 0 90,000
401 AlEHIZ 201 90,000 90,000
01 A=l 89,190 89,190
O etMAlE &X 89,190
03 AlZ 2 THHI 810 0 810
OE&A tMAIE £X 810
BHE ¥ XotE S A2 211,300 211,300 0
201 23] 11,300 11,300
02 3224l 11,300 11,300
OBE =Xl&c 11,300
401 Al HIZL 01| 200,000 200,000
01 A&l 200,000 200,000
OHE 23 At 200,000
LoISS A JHEAY (HEALY) 180,000 1,380,000 A1,200,000
401 AIE2BIXL S THYI 180,000 1,380,000 /1,200,000
01 AlIZHI 178,704 1,375,100 A1,196,39%
o2 Y OHE A 178,704
03 A& S CHYI 1,296 4,900 A3,604
LoIE2S 7S JHEAY 1,296
ng s NS HH3E9 & 2 150,000 920,000 AT770,000
401 Al HIZL 01| 150,000 920,000 AT770,000
01 A=l 148,920 914,000 765,080
Oug s ANdz 8383 & 2 148,920
03 Al =2 THHI 1,080 6,000 A4,920
Oug S ANd= B3E% & B+ 1,080
A& ZHl |X2el 352,030 685,897 A333,867
A & HHl sX2e 352,030 351,897 133
201 =3 352,030 351,897 133
01 A2t 200,592 193,781 6,811
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2A:

CERACIMSAE R A

ZE: T 2
el AL EHl =2 EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
OXge |2t el2tEd Sz 196,692
OLEEZ SYIE 400
OLI=HI(XZEY &Y, N3} 1,500
OANIXtE Hi==HMelAlE 2] 2,000
02 3224l 151,438 158,116 26,678
O8&82= £ HA 8,185
-Asi 282 7,000
- HIIE M2 885
—XEE AESAS 300
OAEIIAHEHl K| 20,552
OAEIIAHEHl F=HI 85,548
OXtgr et 37,153
AHE2HAH (2 22IANSAERXLD) 1,988,921 2,434,669 N445,748
el 2 FH] 1,985,483 2,389,125 N433,642
QAR | 1,985,483 2,389,125 AA433,642
101 2124d| 1,657,151 2,066,964 A409,813
01 2= 775,692 988,564 N212,872
OJlzs 496,001
-5=(HEH) 7,009,070« 1E 1204 & 84,109
—6=5 3,819, 10022+ 1201 91,659
-2 2,735,200 +3E* 120 2 98,468
-8 2,363,600 «5E * 1204 E 141,816
-9=2 2,220,800 +3H 1204 79,949
OFSImst= 23,615
—180l4 - 23012t
1,820,000& «5%+22] 2 364
—2u0l& - 340/t
1,895, 0002« 10%+22]x1H 379
—340la - 440]12
2,366,000 x15%+22]x1H 710
—5H014 - 60/t
2,147,000 x25%+23| x 15 1,074
—780l& - 840(2t
2,421,000 «35%+2 2| +2H 3,390
—8H0l& - 9H0I2t
2,441,000 »40%*22] *1H 1,953
—10&0l&t 3,149, 0003 *50%*23| x5 H 15,745
O&EZ=EIHtz 6,240
— 153014 80,0003 124 +1H 960
—10&0/&f 60,0003 1204 2 4L 2,880
—53014f 50,0002 «120H & «4H 2,400
ouesA+=<
1,874,000& 4. 1% 1B+ 1200 2 923
OJsE=g 6,960




2A: S22 AIEAERRIA
M HYLSIAH(C2HCIANGLALETL)
SERRIEESS(T CERL
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
— X 40,0002 1200 & +6 2,880
— X THAHA 30,0003 120 & +4H 1,440
=1 PIE 70,0002 * 1200 & *12 840
— AR O1F XHH
110,000 x 120 B *1H 1,320
- JIEDE 20,0003« 1200 & +2H 480
O=F0tgds4 30,000
ORg2f=g 50,0003 1200 & +6H 3,600
OJlsdeEsY 3,840
-5= 50,0003 = 1=+ 12042 600
—-6=2~7= 30,0003 x6E* 120 & 1,800
-8=~9=2 20,0003 x6E* 1200 & 1,440
OJI=8EY Iia 3,360
=-JIS&, JIAH 30,0002 x5H =124 & 1,800
—&FHDIA 20,0003 x28 *12)0 & 480
-28A(673) 10,0003 x 18 * 1200 & 120
-2 3A(893) 20,000 x4H =124 & 960
Oz R,034
— A2 2R 73,625
— Mol CHEl HIAZ2 R 18,409
(@FSELF= ] 140,0002 *14Z 12042 23,520
O E St 34,324, 2002 x60%+23| 41,190
OAIE &M 13,689
—-A=H 233,630 *78%*+86%+ 12 1,881
—-g=2H 1,144, 1402 +86%+* 12 11,808
OXZEXH| 30,720
-5 250,000 x 120 & *1Z 3,000
—-6= 185,000& 1201 & x2H 4,440
-7=2 180,000 1201 & +3Y 6,480
-8=~92 175,0002 * 1201 2«8 16,800
03 SRA(RINHS) 22X 24 881,459 1,078,400 196,941
OE2E+3 B 881,459
-J|I23 3,556,610 x 122 E +15H 640,190
—QE O, 52 225Y
19,8582 x150%+* 15A1 2H+ 15 1201 & 80,425
B PNEI= 19, 858 *8Al 2t 152 x 15 35,745
—-YEY 3,556,610 60%+*23] * 15 64,019
—erasyl 50,0003 * 129 &+ 15 9,000
—HAZ Al 140,000 x 12 &+ 15H 25,200
-x&¥=Y 40,0002 +3Z 1201 = 1,440
-2 8,640
s 16,800
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A EZ22AE LG RN
M HHRAIH(Z=22ZH2IAMHAE R L)
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
BN, 40,0003~ 11E* 1200 & 5,280
- R KA 30,0002 x6& 12042 1,800
1 PE 70,0003 x7E* 1200 2 5,880
- AW 0l= XH4
110,000 «2E = 1200 = 2,640
- JIEDHE 20,0002 x5& 1204 1,200
M HA=FESS 298,332 322,161 N23,829
0% RS (SIHH) 22 PHRELS S 298,332 322, 161 £\23,829
OBLH(RIIAN)22T YRS 9,332
~2iaPEE 23
864,657,000 *4. 5% 38,910
~AYPEE Py3
864,657,000 +3.545% 30,653
~leuBsE 2ua
864,657, 0002 0. 454% 3,926
Snl-CEERE T
864,657,000& %1.75% 16,132
—MHEEE RE=
864,657 ,000& 1. 123% 9,711
ORIAA2 =2 A E XS 200,000
=38l 33,438 45,544 A12,106
JI=23Hl 33,438 45,544 A12,106
201 fer= 3| 14,098 14,604 A506
01 At 2|l 13,314 13,820 A506
OJl2+&Hl 2,3%
ORI F—t=1= ] 3,780
Oo=2g+¢ 7,140
-3 7,140
02 S3=gHl 784 784 0
OoRER3 784
202 04| 11,340 12,600 1,260
01 =LHO LI 11,340 12,600 1,260
OJ1= 044l 11,340
203 gR=8| 6,200 5,540 660
02 SRt =AY 1,280 560 720
ORIt =AY 1,280
M A2 LIFAI 4,920 4,980 260
ORANEgg =AY 4,920
204 MRoeAH| 1,800 1,800
01 MG HI=HAHH| 1,800 1,800
O5=2 (KIAZE) 1,800
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3,544,818
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44,944

475,976
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42,867,225
20,840,969
353,260
33,900
21,639,096
36,309, 171

iy

33,900

353,260
15,127,225
2,851,547

20,794,786

i

163,844
2,687,703
581,8%4
86,692
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57,701
2,209
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3,920
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8,023
461,402
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01 AlIZHI 248,422 267,120 18,698
OMEHBHAHEAM Y 248,422
CRE S 67,800 108,480 A40,680
Jl 33,900
= 33,900
401 Al HIZL 201 67,800 108,480 240,680
Il 33,900
== 33,900
01 Al&H| 63,660 107,737 N44,077
O8I 63,660
Il 31,830
< 31,830
02 Zeltl 3,568 743 2,825
OSAEIHRI| 3,568
Jl 1,784
= 1,784
03 Al 20HHI 572 0 572
o328 572
Jl 286
== 286
AZAIE =4 26,622,919 27,421,133 AT798,214
= 18,636,043
= 7,986,876
401 Al HIZ R 0HHI 26,622,919 27,421,133 AT798,214
= 18,636,043
= 7,986,876
01 Al&H| 25,958,384 26,822,980 A864,5%
OLHRIAY 2 38 25,958,384
= 18,170,869
=S 7,787,515
02 Zeltl 485,422 496,225 10,803




SN AYBAARL
H: olei)|5ol Mg
Chel: ERgel EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OLRIAE 2 38 485,422
= 339,795
== 145,627
03 AIZ S THYI 179,113 101,928 77,185
OLHXIAY 2| 35 179,113
= 125,379
= 53,734
AZAIE FXI2tel 363,200 349,200 14,000
= 254,240
=S 108,960
401 Al HIZL 201 363,200 349,200 14,000
= 254,240
< 108,960
01 Al&H| 360,926 347,014 13,912
OArgd 2te| 21 15 360,926
= 252,648
== 108,278
03 Al 20HHI 2,274 2,186 88
OAr e 2te| 21 18 2,274
= 1,592
= 682
AZAIE BE 148,692 164,320 15,628
= 104,084
< 44,608
401 A& HIX R0 148,692 164,320 15,628
= 104,084
== 44,608
01 AlZ2H| 147,761 163,291 15,530
OAEgAlE HA 147,761
2 108,432
= 44,329
03 Al 20HHI 931 1,029 A98
OAtZAIE & 931
= 652
== 279
AEAIE EFEEE D} 379,526 396,967 A17,441
= 265,668
= 113,858
401 Al HIZ R 0HbI 379,526 396,967 A7,441
= 265,668
= 113,858
01 Al&HI 377,150 394,482 A17,332
OAtZE Eted 8ot 2 28 377,150




SN AYBAARL
M UYPIl=o MMt
=Rl EREa EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 264,006
=S 113,145
03 Al 2 0HHI 2,376 2,485 A109
OAEE BEtgd gt 2 28 2,376
= 1,663
< 713
AFZANE 2182 =¢ 4,680 5,200 A520
201 et 3| 4,680 5,200 A520
01 At22t2l] 4,680 5,200 A520
oA/ =& 4,680
—AHEANY e 2 4,680
7.9.~419. 22 Lol SA 1,410,3% 0 1,410,3%
= 705,197
< 705,198
401 AIZHIX S0HH 1,410,3% 0 1,410,3%
= 705,197
= 705,198
01 AlZ28| 1,377,389 0 1,377,389
07.9.~19. 22 Tloi SFAH 1,377,389
= 688,694
= 688,695
02 Zeltl 23,917 0 23,917
07.9.~19. 22 Lok S2AL 23,917
= 11,959
< 11,958
03 AlZ = THHI 9,089 0 9,089
07.9.~19. 22 Tloi SFAH 9,089
= 4,544
= 4,545
AFEHIO| 24IE 858,199 773,719 84,480
= 11,000
=S 847,199
AHHHIOIQMIE 22 231,090 207,220 23,870
101 @124H| 17,986 17,192 7%
M IRINZZENSES 17,986 17,192 794
OLHEHI0IQUIE 2i2] JIZFRMIZ2Z A 2124H| 14,916
-=0 12,365
—AXt=E 474
- EEFIHI 1,237
—gHzAal 840
Odes 28 1,410
Ogdsse= 1,660
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SN AYBAARL
M UYPIl=o MMt
Chel: AEHIOIRMEH EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| 1] & 33,850
HY2IIH(AHEZAHTL) 6,056,404 6,264,264 A207,860
= 46,183
== 6,010,221
el 2| 5,882,349 6,059,554 AT77,205
= 46,183
< 5,836,166
el 2d| 5,706,945 5,814,039 /107,004
101 @1A4H| 5,405,402 5,539,855 A134,453
01 2= 3,283,412 3,213,937 69,475
OcsH 443,844
—45 8,495,000« 1& 128 101,940
-55 7,028,132 3812 253,013
-2 7,407, 5703« 1H« 123 88,891
OZ=H 1,833,360
—6= 3,971,700 128~ 128 571,925
= 2,939, 100&x198 «12& 670,115
-8 2,163,600 x2H 122 51,927
-9= 1,867,100 x4 x 122 89,621
— A=A 3,748,100 x10E 122 449,772
(OES 259,897
-d2=g 129,873
-d2sdints 34,800
255014t 130,000 x2&* 122 3,120
-20H0 & 110,000& 62+ 123 7,920
1580/ & 80,000 8 * 122 7,680
- 10014 60,0002 x0& » 123 6,480
540(4 50,0003~ 162 +12& 9,600
-lesFdErE 9,904
o= 3,995,580 4. 1%+ 12 x 123 1,966
- AL 4,033, 130& #4. 1%+4E 12 7,938
-oiEay 36,600
- B Xt 40,0002 x28H * 12& 13,440
L PE 30,0002 x16E 128 5,760
- SMAH 70,0002 x11& 128 9,240
SR AHA 110,000 x4 » 122 5,280
JIEt 20,0002« 12H* 123 2,880
-flg=2e+d 1,080
=3 50,0003 1 * 122 600
g5 40,0002 x1&* 122 480
-Jled=2+¢g 12,600
53 Ola 50,0008 x4 x 122 2,400
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SH: NEEEDA
MM HESAAY|(ARSAATL)
s lIEE2ghl EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
a=1 30,0003 +27F+12& 9,720
- 892 20,0003 =2« 12& 480
=JI=3E90r3 23,400
JI= Al 50,0003 x4F 123 2,400
JIA 30,0003 +53E 123 19,080
AFAD AL 20,0002 6 12& 1,440
2, Jul(6,73)
10,0003 x2H x 123 240
2™, d41(8,92)
20,0003 x1H 123 240
- AR 10,560
AR A 80,0002 x 11+ 123 10,560
- S22 1,080
=N 30,0003 +«3F 123 1,080
(OFSELI=Eal:]] 140,0002 x52H 123 87,360
OYESII(EZSH)
1,833,360,0002 / 12+60%+23] 183,336
OS2 4| 62,481
—-ASH 9,924
-2z 52,557
O=uZ=4 293,854
—AlZ2t22 R 289,836
-52g 22 4,018
O&ASEXHI 119,280
e 400,0008!+1 244128 4,800
-5z, o2& 250,0003 x4+ 122 12,000
-6, AFA 185,000& x2H + 123 48,840
= 180,0002 x 19 =123 41,040
-89= 175,000 x6H 122 12,600
02 JIEtA B 419,515 409,322 10,193
OJlEs 235,992
- HAZE 2,509,0002 4+ 12& 120,432
—HRAAMEESHA
3,210,000 3B+ 122 115,560
O=% 138,324
-dz2=E 15,096
HAAZ(10E014})
3,511, 590& * 1% +50%+23| 3,512
HAAZZ(1040124)
2,495, 2003 * 1% x45%+23| 2,246
HAZ (540l
2,061, 3502 * 1 *20%+23] 825
HAAZ(440/194)
1,969, 310& * 1B *15%+23| 591
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SH ARSI
M S| (ARIBHDL)
chel: olat2oty| (Hol: &)
SA - FE - BR(S) - MIRA - BAS Ofl &4 A HIDE2
SHNYEE A (10H014)
3,594, 020 x2F +50%+23] 7,189
HAMYESHAUE 0/
2,440,603 «1H *15%+22] 733
-ELY 3,960
- BH Xt 40,000 x3&~ 122 1,440
ASURHXHA 110,000&x 1+ 12& 1,320
- JIEt 20,0003 x5 * 128 1,200
—ASTAG ()
40,0003 x 1+ 123 480
-d2sEhta 4,200
- 202014 110,000& =2« 12& 2,640
155014 80,0003 1 x 128 960
58014 50,0002 1~ 123 600
—ZAgald| 140,000 x7H+ 122 11,760
— Ot &H| 6,765
SEE 3,46
HAENMHEES A 3,312
- &g 2 x| 175,000 x7H+ 122 14,700
—CHel & =t 50,0002 7+ 12& 4,200
—HEF0H| 23,599
HRAIE 12,045
HAMEHES A 11,554
Y EERN 840
=Xl 40,0003 +1E+12& 480
=2PN 30,0003 1 =128 360
—ZU2RE 52,724
HABT(AIAQ) 29,471
HAAZ (012 12,887
HAMBBSHI(AI2H2]) 10,366
OZFEE & FAUSESHA HIERE=S 45,199
03 SR (RIAHA) 22X 1,702,475 1,916,5% A214,121
O 1,702,475
-JlEs 2,487,040 «412H+ 123 1,223,624
—HE - 0ft - B2 2 E
14, 11824 150%+ 15 A1 2H41H % 123 156,287
- Xt 14, 1182 +8A| 2+ 15 x41H 69,461
-2 IO 2,487,040 «60%+22] *41H 122,363
—CHRI & =] 50,000 »41H+12J4 2 24,600
—ZAg Al 140,000& x418 123 68,880
-2=Jt3 25,0002 x41H+123] 12,300
k== 50,000 »3& * 128 1,800
-IExE 23,160
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SN MREETA
M HAHPAIH|(MSHSHHAAL)
9l Jl=3y) LR
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OBl 2HIE 3,000
204 AR A 9,600 9,600
01 Mg R3] 9,600 9,600
O4=(J122) 4,800
O53(EXD|2) 4,800
Hess(MgadAL) 501,650 338,200 163,450
WA XIE 501,650 338,200 163,450
HEHeH XIE 501,650 338,200 163,450
705 Ol==dclsde 501,650 338,200 163,450
03 Al - =X EI IS0 S et 280,000 280,000 0
OArZ ALY 2=&et 280,000
04 Al - EXISHHE DI S0~ 01 Ktat gt 221,650 58,200 163,450
OAHZ ALY Ol Xtatet 29,400
OSSR = A (2020) 19,000
O2023 AFXIAFZ AL 173,250
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H & 0l & AHS B Ml A

0248 =0ila eS| &Hl 2024-02-02 10:11:35

SH: SAARA
Hu: EXMAES
Cel: ATULATHA (S (S &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEARH A 3,678,307 4,869,623 1,191,316
= 262,721
== 3,415,586
SHdMEE 1,742,682 2,363,482 620,800
= 262,721
= 1,479,961
PASULHSYLH(ABHL 579,582 406,348 173,234
= 262,721
=S 316,861
HESHBS YL 262,721 205,252 57,469
= 262,721
101 21AH| 194,207 174,120 20,087
= 194,207
U IIRINZZENSES 194,207 174,120 20,087
O3SZdL JIZHHIZ 2 A 2l 21| 194,207
—-J=2s 140, 131
= 140, 131
—Axt=g 5,049
= 5,049
- NS A 9,520
= 9,520
- HEFOHI 9,892
= 9,892
i =FSE = 18,191
= 18,191
—dEs 2d 11,424
= 11,424
201 eer23y| 21,800 3,000 18,800
= 21,800
01 At22t2lt] 21,800 3,000 18,800
O3 SHLE AFR2t2|H] 21,800
= 21,800
207 AR 46,714 28,132 18,582
= 46,714
03 Al 2HI 46,714 28,132 18,582
OJSHL AIZ 7| 46,714
= 46,714
HFSAE 2L 316,861 201,096 115,765
201 er23| 198,800 183,916 14,884
01 AtR2t2|HI 36,861 32,518 4,343
OB y=+=H| 4,500
O&XgE 0|8 =8 400
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od
i’
o
uJ

-

KIO

Hlw

N2,400
A2,400

103,281
103,281

HMEE
Ofl &k2h

15,000
15,000

2,140
2,140

Ofl &F2H

200
1,500
6,000

20,000
14,000
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155,202
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AT79,798

HE
0l &y

1,872,615

33,355
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532,215

Ofl &F2H

80,000
40,000
40,000
80,000
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40,000
40,000
303,000

o

iy

fir
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151,500

303,000

iy

i
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303,000
303,000

Iy

i

151,500
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2,027,817

iy

fir

32,700

560,000

1,435,117

Il

iy

34,917
34,917
34,917
24,729
1,680
2,473
3,215
2,820
48,600

452,417
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S - B

- SRA(3) - HIRAEY

207 ARl
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FAN SSAYAEL
MM OINB ZAZ MADD
&l Satsotd 2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 5,1%4
(@)= FSES= =) 13,324
Jl 5,330
= 7,9%
201 er23| 65,800 65,800 0
Jl 26,320
== 39,480
2 s5=34l 65,800 65,800 0
OFtSSAEE FAE=H 60,000
) 24,000
< 36,000
OF =S A =HH] 5,800
Jl 2,320
= 3,480
206 MH=HI 575,316 585,069 A9,753
Jl 230,126
== 345,190
01 MZH| 575,316 585,069 N9,753
O Sa=F A M| 575,316
) 230,126
& 345,190
SMEAAZ A2 AEEIRY K& 625,000 500,000 125,000
Jl 250,000
= 375,000
405 KHakE SH 625,000 500,000 125,000
Jl 250,000
=S 375,000
01 It =S F = 625,000 500,000 125,000
O2R Mz At 480,000
Jl 192,000
[ 288,000
(OEINY =) 29,000
Il 11,600
= 17,400
ONZ+==30| 13,000
J| 5,200
=S 7,800
OzXNz2ds1 27,000
) 10,800
& 16,200
OAltdED 28,000
Jl 11,200
= 16,800
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FAN SSAYAEL
MM OINB ZAZ MADD
ol FaEerd e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFRza gl 12,000
Jl 4,800
== 7,200
Ol dE=tHe 36,000
Il 14,400
= 21,600
e+l € Madl A=A 65,400 65,400 0
= 32,700
=S 32,700
201 er23| 11,200 11,200 0
= 5,600
== 5,600
2 s5=34l 11,200 11,200 0
ORS=sL= =1l 11,200
= 5,600
& 5,600
206 M=l 54,200 54,200 0
= 27,100
= 27,100
01 MHZH| 54,200 54,200 0
OFSHA &= ZA M= 54,200
= 27,100
s 27,100
SNSHAE 2 018 - €X X3 110,000 110,000
401 A& HIX R0 110,000 110,000
01 A28l 110,000 110,000
OFi=ZAA &F 018 - X1 K& 110,000
IENE & RAL 2E 1,155,680 1,334,987 179,307
Jl 193,357
= 962,323
st s=EaY 562,917 626,443 N\63,526
101 e124d| 71,937 66,098 5,839
M ORNZZ2NSE S 71,937 66,098 5,839
OJt=At 22X 71,937
-Jl=s 49,458
— NS A 3,360
—g& S0l 4,946
i =FSE = 6.639
-—dEds 24 5,640
—Axt=g 1,8%4
201 fet= 3| 157,577 159,459 1,882
01 AtR2te|H] 93,300 88,500 4,800
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FAN SSAYAEL
MM OINB ZAZ MADD
Rl O & REA 2& (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Odit=3=H| 11,500
-8t dEs+d 82 10,000
-0Ia8g8e2g 1,500
Oo=zg=4 500
- MotEEEE 2 500
Ooul=Hl 5,400
—-IJIEEANLE BES 3,600
— At 1,800
OJt=2Exte gxt= 3,000
OJIZNZ22Xt HERIE =E 400
OHAE elie Xcl IS 1,000
OFAAE BHIES 71,500
02 s3=gHl 64,277 70,959 26,682
OZ332= & HMAl 950
—S=FAD =83l 500
-d0lasgtl S 450
OAIE2 &= X 33,727
—TMRAIZHHE DI 6,000
- EdiH 6.000
-Z2J1 1,000
—-AJ|E20 1,000
=& 1,500
- SEUE)| 1,000
- NHSEEIN(ZHD]) 2,000
-3 1,500
—=4)| 1,000
-d=s=00| 2,000
—Higd 2,000
-7 8,727
d= 7,607
RE= 1,120
EIHIAL SEX2 EY 5,300
O=A & R2UHAIE =X 24,300
202 04l 900 1,000 A100
01 =LHAHI 900 1,000 A100
Ost=AHI0ILE S 900
206 MH=H| 11,305 12,430 A1,125
01 M=4l 11,305 12,430 AT1,125
OAMgXE S+ 8,930
- 4,950
- IRG At 1,260
-Sx=3X 1,320

_104_




od
i’
oF
uJ

NE NS | ==
NS BRI g|g|8
0 RN P RE) SAKARA wlw|w
o >3 J1< << 21415
E
E=]
B8 318 elele 81818
0|0 S|e Q|9 S|e|S
L3 S SIEENIRE s|g|e
ik
RIS
S 3SR ELEIIYFT IS I B S S S8 LRSS 388 3|2LLLRAT2IE8EBISE 2ISS8E8 83888
S ¥ XS DQININ B O NS DS S R®oS oSS O LRVD 84S =8l o5ee s S S g
L B ¥ R - S Spgyooodgg gYddI TS LDe - 181488 82LK K
3
d
S
oir
70
[=1]
o
<
s
3
= r
= | = 7 o i
ol o _ ™ i _
F =2 i L _ER &
3 I K o|D =} o = oD D = 5 oD TR
o Lo Bl | = = 3 E R\ T |30 | S0 =% 2l | R0 W®
= Y =& Ko RO =< oK OF =lE < R = = |3l %
_quA | %0 = a ok Ki 2|z Hlm = T | w0 5 Ok
K b 3| = __% _ ﬂﬂ_ioo @Mm _coa 3= mmu%
z 5|8 gla Y| |s 1
eV < TN eVl
il g =

- 105 -




FAN SSAYAEL
MM OINB ZAZ MADD
Rl O & REA 2& (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2 AFSE ONA S AL 22,714 22,714 0
Jl 11,357
== 11,357
207 ARl 22,714 22,714 0
) 11,357
< 11,357
03 Al 2HI 22,714 22,714 0
O2 AFSERH DNA S AHEI 22,714
Il 11,357
= 11,357
sSRIN2H 11,820 11,820
201 el 6,000 6,000
02 35244l 6,000 6,000
OAlZ &I Xl 6,000
-RAANSHEH 72 6,000
207 ARl 5,820 5,820
03 Al 2HI 5,820 5,820
OWN2ItAF Y 5,820
HA - SRASEEA X4 19,880 27,400 AT7,520
307 212+01& 19,880 27,400 AT7,520
02 LB HANHEE 19,880 27,400 AT7,520
OFHA . SRASSIH ASIBEE XS 19,880
NS SEZA 16,000 16,000 0
Jl 8,000
< 8,000
207 ARl 16,000 16,000 0
) 8,000
& 8,000
03 Al 2HI 16,000 16,000 0
OXZAIZSEZ A 16,000
Il 8,000
= 8,000
gL =Zet 0lAXH 129,000 266,000 A137,000
Jl 64,500
s 64,500
405 AHaHE = 129,000 266,000 A137,000
Jl 64,500
[ 64,500
01 ML ESFSHI 129,000 266,000 A137,000
ORgda =3l Xd 129,000
- RUTNSZEX(PR) 11,300
Il 5,650
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A SSAAMAEL
M OtMEE SAtE MitZS
SRl O ¥ R EE (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 5,650
—Hybridization Oven 6,200
J| 3,100
< 3,100
- NSONAZ=ZEHI 78,300
J| 39,150
< 39,150
-=g&t s20| 26,000
J| 13,000
= 13,000
- RENNMASSEXI(UPS) 4,700
J| 2,350
= 2,350
—Multi-sample al ignment fixture 2,500
J| 1,250
= 1,250
LA e O AX(FAEE) 131,000 52,000 79,000
J| 65,500
< 65,500
207 A2 IHEH| 131,000 52,000 79,000
J| 65,500
< 65,500
03 Al& & 2| 131,000 52,000 79,000
Oz ¢ 24,000
J| 12,000
= 12,000
OR&EM =24 95,000
J| 47,500
= 47,500
OAxz7¢ 12,000
J| 6,000
< 6,000
ZoH SEH A 5,000 10,000 5,000
207 A IHEH| 5,000 10,000 25,000
03 Al& & 2H| 5,000 10,000 Ab,000
OZN SEZAHI 5,000
S4B XA 24,000 30,000 26,000
J| 12,000
= 12,000
401 AEHIL20HY| 13,000 30,000 A17,000
J| 6,500
< 6,500
01 Al&HI 13,000 30,000 17,000
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SN SSMAIEL
M OINE BAS MATZ
&2 DY € RAEX 2E (SH &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
03|28 EA =2atAlE 24 13,000
b 6,500
= 6,500
405 XHAHEISH) 1,000 0 11,000
p 5,500
= 5,500
01 KA SEFSH| 11,000 0 11,000
O2 FAUTZ AlAE 11,000
p 5,500
s 5,500
SSTHE MAd HSARY(I2LX) 64,000 80,000 16,000
b 32,000
= 3,000
ETEESTT 64,000 60,200 3,800
p 32,000
= 3,000
01 Al&H| 64,000 60,200 3,800
OSZHYU Maral X 64,000
— A A& H I 5,000
p 2,500
< 2,500
—SZHW Ml 83 59,000
b 29,500
= 29,500
52 REH A2WTX 31,500 35,000 13,500
207 AL 31,500 35,000 3,500
CEEER 31,500 35,000 3,500
ORTN =24 22 31,500
SEPEYS 501,419 467,068 34,351
HArzrel 487,319 452,968 34,351
101 Q124 61,454 38,817 22,637
WPELEE =P 61,454 38,817 22,637
OFA2Y JAH22X 12| 40,690
-Jlz3 26,468
-ol%, O}, BY 224y 3,210
—Qizg 1,332
- Y E I 2,646
- HougAl| 1,680
-JiEsy 480
-3y 600
- 220H43 300
—YERaz 3,983
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SH: ESSIMAEA
B HESAAH|(SSIAMAIEL)
ciel: olte )
RA - BH - SHIEN) - HRAY - BAS ol &t A
“TEN, AD 2 Al SEHSI2F A2
224g 8,926
OZd+< 275,958
-S053+E 36,000
-ExE 36,720
- BH Xt 40,0002 x30E « 12 14,400
- AW 30,0002 x18H*12& 6,480
1 PE 70,0002 12F 128 10,080
AW Ol Kt 110,000& x2&* 123 2,640
- JIEFHS 20,0002 x13E«12& 3,120
-d2=Ehts 31,680
- 25014 130,000& x4« 123 6,240
- 2020144 110,000& x4« 123 5,280
- 15404 80,0002 7~ 123 6,720
- 108014 60,0002 7 * 122 5,040
- 5014 50,0002 +14F 122 8,400
—-FEga2R+e 30,240
e 60,0003 x2& * 122 1,440
£33 50,0002 x48EH « 12 28,800
-HRsREE 18,678
- B 14,654
6= 10,413
= 4,241
e fmE] 4,024
-Jlsd=2sg 3,000
e 30,0002 x5 * 122 1,800
- 80= 20,0003 x5 * 122 1,200
-JIEdEE JHZ (1A
30,0002 5~ 122 1,800
-JIE3EE IZ(2EE) 360
Qe 10,0003 x 18123 120
- 802 20,0003 1 x 122 240
YR E 90,000
=o| N d 250,000 x30E « 12 90,000
-y Rse 4,800
AN 80,000 x5 128 4,800
-2 el
270,000& x7H 128 22,680
OZHSAHI 140,0003 x490E « 12 82,320
Og&ESItd|
1,862,772,000& /12 »60%+*23] 186,278
OS2 4] 63,039
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SH: SSAMAIEA
. dY2IIH(SSALAIER)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- HSH
431,070,00024 / 12+78%+86%+1/30% 12 9,639
~23H
1,862,772,0002 / 12%86%+1/30% 12 53,400
(OFS= LB 113,100
48,72 400,000« 1H« 122 4,800
-53, & 250,000 «4H«12& 12,000
—62, A 2AHIES S014)
185,000 x26EH 122 57,720
= 180,000 x13& «12& 28,080
-892, AR AH2&E0151)
175,000 x5 * 122 10,500
02 JIEtAE = 75,530 71,430 4,100
OBBYSALM 75,530
-s3oey| 900,000 +6 2+ 122 64.800
~slgResy 50, 00021462 122! 3,600
b EE = 7,130
08 SRH (A A) 222+ 717,554 767,458 A49,904
OB=x 717,554
—ol=3 2,487, 04021+ 173+ 122 507,367
-1, 0F2, B4
14,3773 *150%+ 15A1 2t 17 * 122 65,991
-t 14,3773 +BAI2E* 152« 17H 29,330
-E&5Hl 2,487 0403 «60%*22| x 17H 50,736
-S| 50,0003 x17&*12& 10,200
- NS A 140,000 x17E 128 28,560
-?g=+g 50,0003 x17E*12& 10,200
2528 5,940
—-IESE 9,240
- B X 40,0002 7+ 122 3,360
- R KA 30,0006 * 122 2,160
- SMAHA 70,0002 38 * 122 2,520
N= ) 20,0002 x5~ 122 1,200
M HA=SFEHSS 91,191 98,147 26,956
04 SR (RIH)22N BEE=RES S 91,191 98,147 6,956
O=tAs32g= 711,615,000 *4. 5% 32,023
OAIFIIRAYEE= 28,458
-AL=EE= 711,615,000 +3.545% 25,227
-WIRALEE= 711,615,000& *0.454% 3,231
(@ME=Lh=i= 711,615,000&*1.75% 12,454
OuttiEg = 711,615,000 +0.87%% 6,256
OZ2& 22Xt &&= 12,000
Jl=3H| 139,829 147,580 AT,751
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oF
uJ

-

KIO

Hlw

ANT,751
A3, 161

A2,531

A630

A5,310
A5,310

720

720

HMEE
Ofl &k2h

147,580

68,060
64,430

3,630

53,100
53,100

18,020
3,300

2,120

12,600

8,400

8,400

Ofl &F2H

139,829
64,899

61,899

10,089
15,930
14,280
14,280
21,600

3,000
3,000
3,000
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SN HREYA
M R LM QIEH A5t
Che: HRETARE 243 (EEEE))
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
03 A2 EHI 3,000 3,600 A600
O sgYd E23| Mzl 3,000
301 LetEEZ 240 240
11 HARHIXIES 240 240
OgRd sged E&83| HAl 240
253 sZZAUH A5t 2,000,000 2,498,750 AN498,750
g22H AMESsY ESHAF |4 2,000,000 2,498,750 A498,750
ADIESY S3HA7 |4 2,000,000 2,498,750 A498,750
403 XX SHHSKH=01H 2,000,000 2,498,750 A498,750
01 MXIEtH 22 £ 2,000,000 2,498,750 A498,750
OANIE=Y Estk+ 4 2,000,000
MY 2HAH(HEETL) 882,064 879,766 2,298
ol 2| 847,870 843,666 4,204
ol 847,870 843,666 4,204
101 @124t 845,621 841,483 4,138
01 2=+ 825,437 822,112 3,325
oJ12a 615,844
—aBtAl 615,844
42 (HSH) 8,107,302« 1+ 12& 97,288
53 (HEH) 6,797, 10723« 12& 244,696
6= 3,819, 1002 x4 B+ 122 183,317
= 2,625,400 18+ 123 31,505
8= 2,459,002 2 12& 59,038
(OFSF=tal= 20,007
O MG 38,775
—E2SEIKRZ 5,760
2004t 110,000 x1H» 123 1,320
15E0( & 80,000 =2« 12& 1,920
- 109014 60,0003 x1H*12& 720
- 5404 50,0003 +x3H«12& 1,800
-HRERE 2,006
= 4,077,0002 %4, 1%+ 18+ 122 2,006
-JIE+g 8,760
< Xt 40,0002 6+ 128 2,880
A 30,0003 x5« 12& 1,800
SMAH 70,0002 +3%* 123 2,520
AR 0l X4 110,000 x1H* 123 1,320
JIEDS 20,0003 x 1« 128 240
-S0tsdHY
1,805, 1003 *80%+ 15+ 12& 17,329
-Jl=d8sd 2,760
- 5204t 50,0003 =2« 12& 1,200
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SN SRETA
M HYRAZH(BREELR)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o =at=1 30,0002 x3& 123 1,080
- 82~95 20,0002 x2& 123 480
—Jlsd2sEkt= 2,160
NSE,IIAL 30,0003 ~6E * 122 2,160
OdHgAHl 140,0002 x11E 12 18,480
Og &=l 273,860,000 / 12+60%+23 27,386
OgItE &l 15,498
—ASH
341,984,000 / 12x78%+~86%*1/30% 12 7,647
-22AH 273,860,000 / 12+86%+1/30% 12& 7,851
Oz=22=¢ 60,407
OXZExHI 29,040
-43 400,000« 1H* 122 4,800
-53 250,000& x3E«12& 9,000
-6 185,000& ~4&x12& 8,880
= 180,000 x1&x 12 2,160
-89= 175,000 x2& * 122 4,200
03 SRA(RIH )22 U2+ 20,184 19,371 813
OSRA(RINHN) 22T E S 20,184
-Jl=s 1,130,370& x1E~12& 13,565
—A22I225E
6,799 x 1500+ 15A| 2t 1 * 122 1,836
—Axteg 6,799 x8A| 2Hx 1521 816
—EEFIHI 1,130, 3702 x60%+22]x1H 1,357
- dASAH| 140,000 x 18 * 122 1,680
- 2HH= 12,5003 18 +1238 150
-S| 25,0002 x1&8 122 300
—-IESY 40,0002 x 1+ 122 480
WM H=sEE=S 2,249 2,183 66
4 ZRA(RIHA)22N HEERES S 2,249 2,183 66
O=tA2Eg FE=
20,184,000 *3.545% 716
OINRLEE FE=
20, 184,0002 %0.454% 2
O=ud=s BFE= 20,184,000 4. 5% 909
OnEed BE= 20,184,000 *1.75% 354
O4tdToll 2= 20,184,000 *0.87%% 178
Jl=3H| 34,194 36,100 1,906
Jl=23H] 34,194 36,100 1,906
201 er23| 6,174 6,860 686
01 AtR2t2|HI 6,174 6,860 A686
OJl2=sHl 2,3%
OJI2=8Hl 3,780
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SN BEAMNRTHE
3 SSIMA=TE 28X
ool ERARRPY ERES (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 50,270
13 SIS0t AS A 100,540 0 100,540
OS=ZNA=TE FRUE 852 100,540
[ 50,270
= 50,270
245 222 NF 32,000 36,300 24,300
201 el 32,000 36,300 24,300
01 At22t2lt] 32,000 36,300 24,300
OESZNARTSE 2384 MH 10,000
OFIFXE <t 222 M 22,000
DHe 28 82 59,400 66,000 26,600
[ 29,700
= 29,700
308 AFXIEHMSOIE 59,400 0 59,400
[ 29,700
= 29,700
13 SI12S0He 4 A AS A 59,400 0 59,400
OSNSE &&st 2¢ciel 22 59,400
= 29,700
=S 29,700
ANEEs 0|88 82 139,680 185,200 A 15,520
= 69,840
& 69,840
308 AtXIEMSOIE 139,680 0 139,680
[ 69,840
= 69,840
13 SI[2SOHe & EAS A 139,680 0 139,680
=R AEESS 88 2t 0/0IX 2= 139,680
[ 69,840
= 69,840
SlOI0IE ¥ 2t 88 82 7,920 0 7,920
201 Ler23| 7,920 7,920
01 At2teltl 7,920 7,920
OANIEFIHRSHUZHE(2S Dhub) 2 7,920
-233 N 28 =5 7,920
SgEXE 4,519,313 8,986,000 A\4,466,687
= 2,836,800
= 411,513
< 1,271,000
2& =M K-FEIOHU0l 28 2,000,000 7,386,000 /5,386,000
= 2,000,000
401 AlZHIZL RO 2,000,000 7,386,000 /5,386,000
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SN BEAMNRTHE
3 SSIMA=TE 28X
el SNEEIE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,000,000
01 AlZ2H| 800,000 7,386,000 6,586,000
02L& =Ml K-FEIOHHIOI 28 800,000
= 800,000
02 Zeltl 1,192,000 0 1,192,000
O2% =M K-FEIOIH0I HE 1,192,000
= 1,192,000
03 Al 20HHI 8,000 0 8,000
O2sE =M K-FEIOPHHIOI AHE 8,000
= 8,000
o= HY XY 2208 2 450,000 500,000 /50,000
308 XXM SOIH 450,000 500,000 /50,000
18 SIS0t 4 A AS At 450,000 500,000 /50,000
O2=0 Y XN& 2208 29 450,000
SSEMA=TSY BlOIQEA FELXtel XN 1,054,513 970,000 84,513
[ 411,513
S 643,000
308 AtXIEHMSOIE 1,054,513 970,000 84,513
[ 411,513
= 643,000
13 S [2SOHe & EAS A 1,064,513 970,000 84,513
OZESAMLSTY HIOIQUA HEU2)
A& 1,064,513
= 411,513
=S 643,000
FEEd X2AHY 914,800 0 914,800
= 836,800
& 78,000
307 @201 & 914,800 0 914,800
= 836,800
= 78,000
02 QIS ER 914,800 0 914,800
OFEEA XIE MY 914,800
= 836,800
= 78,000
JHARFAE LI Hel+==2435 XA 100,000 100,000
308 AHXIEMSOIH 100,000 100,000
18 SIS0t oA AS A 100,000 100,000
OB NA =S 301 aiel+==2d3st X
A 100,000
AR e 12,563,446 10,068,073 2,495,373
= 767,000
[ 619,500
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2A:

E M

SSIMA=AHE
MRS OHE

2o S=SIMAS7S A= L X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 11,176,946
SSZMA=FS A= & K& 4,500 5,000 A500
SSEINAN=FS HLHE = 4,500 5,000 A500
202 04| 4,500 5,000 A500
01 2LHAH| 4,500 5,000 A500
OJegHE 8ol & 2ldd 1] 4,500
SHI0I2 eI AKX+ &4 129,044 11,000 118,044
EH0I2S2AXF Y 9,900 11,000 A1,100
202 04| 3,600 4,000 A400
01 2LHoIH 3,600 4,000 2400
O2&H0IEIAKIF & 3,600
203 HRP=H] 6,300 7,000 AT700
03 A= PR FAI| 6,300 7,000 AT700
O2s&H0I2E2AK 7 SR 6,300
LEHOIRBCAX T 2elFR A A2 119,144 119,144
308 AtXIEHMSOIE 119,144 119,144
1B S 2ASHUe B HAE 119,144 119,144
OLEH0IQELIAXF 2e|BR AS S
= XNs 119,144
SHIOILOICIZ X+ JHE 1,239,000 2,735,000 A1,496,000
s 619,500
== 619,500
LEHOIQUNCIEX 7 Y2 A 1,239,000 2,735,000 A1,496,000
= 619,500
[ 619,500
403 MR HHMSAHE01H 1,239,000 2,735,000 1,496,000
[ 619,500
= 619,500
02 SIS USAH=2HAAE | 1,239,000 2,735,000 A1,496,000
OLEHIOIQUTIZX T APE=Z AESA 1,239,000
[ 619,500
= 619,500
0z SelA fg 11,125,900 7,258,143 3,867,757
= 767,000
== 10,358,900
02 SelA e 9,900 11,000 AT1,100
202 04l 3,600 4,000 2400
01 =LHOHI 3,600 4,000 400
OF=0oz=2ela &4 =R 3,600
203 =4l 6,300 7,000 AT00
03 A=A H R FZI| 6,300 7,000 AT700
OEFUNHZ22IA ZEAY HRFT 6,300
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2A:

ESAHKRPOE

M MRS N
=Rl BFUUHZECA JHE (CHol: &S1)
SA - ZE - B2(30) - HRA - B of v G o HIDE2
EF00Z=ZSciA2k+ REAE 20,000 20,000
401 AIZHIZ SO 20,000 20,000
01 Al&HI 20,000 20,000
OFFUAHZ 222K+ =g &3t 20,000
FF00E 22 2K+ HeXelAlg AL 1,006,000 2,247,143 1,151,143
= 767,000
= 329,000
401 Al HIZ R 0HbI 1,096,000 2,247,143 1,151,143
= 767,000
= 329,000
01 Al&HI 1,096,000 2,247,143 1,151,143
OFE=U0=ZBelA 2K+ H=a=XelAlE A
EIA 1,096,000
= 767,000
== 329,000
=002 =2elA 3K+ LA 10,000,000 5,000,000 5,000,000
401 AIZHIX S0HH 10,000,000 5,000,000 5,000,000
01 A28l 10,000,000 5,000,000 5,000,000
OEFUHZ 22l 3K+ ALY 10,000,000
MRS =X 65,002 58,930 6,072
A5y =8 58,252 53,430 4,822
201 2= 58,252 53,430 4,822
01 At22t2lt] 58,252 53,430 4,822
Od=A HRUH =2 54,252
Ol eIt E0F QHEEH = 4,000
QA et 1,800 5,500 23,700
202 04t 1,800 2,000 A200
01 =LHOHI 1,800 2,000 A200
ORgAaE=Z Nts FA0 1,800
HIIZ MelAlIAY AR W= 3,950 0 3,950
201 et 3| 3,500 3,500
03 A2 I 3,500 3,500
Ou==Tt M= 1,500
OZAtE & AIZXE S 2,000
301 EtE N = 450 450
11 HAIMHIXIZ S 450 450
OuUSFEA L 2tA| 450
AFSAE &8 W=s 1,000 0 1,000
201 ger=3| 820 820
03 A= I 820 820
OuSHAL MZ 600
OZAME & 220
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P S

SANKRPH

M MRS N
e BHAEE FUXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 180 180
11 dALEEIXIZE S 180 180
OuSFEA L 2ta| 180
SENRA s 362,329 1,914,729 1,562,400
[ 93,800
= 258,529
SNz 2K 362,329 714,729 362,400
s 93,800
s 258,529
ENEEONIE- =N 52,729 55,129 A2,400
201 er23| 30,129 30,129 0
01 At2teltl 24,300 24,300 0
OFXRx E2gs(822 M) 2,700
O=UH2ARE &A= X AHOILE S &It 1,200
Ogs d=it & 4S5 AR 4 ¢ 7,000
OFTFA S22 AH| 2 1,600
OLnEEZ Sdx 1,000
OFXNRI 928 U UM SESE) 10,800
02 S3=gHl 5,829 5,829 0
OXtgs el 5,829
202 04| 10,800 12,000 21,200
01 =LHO LI 10,800 12,000 A1,200
O=UW EX:X 0l 10,800
203 HR=H] 10,800 12,000 21,200
03 A=A FAIH| 10,800 12,000 1,200
OF =X ge=d 10,800
301 EtE2 NS 1,000 1,000
4Bt 2a3 1,000 1,000
OFX=A SEUHAL 24 1,000
2E5E AR =2 18,800 18,800 0
[ 3,400
= 15,400
201 el 18,800 18,800 0
s 3,400
s 15,400
03 A2 Y] 18,800 18,800 0
OEZMEAl J1gele & 10,000
OCBfez SAtEE HE0 2,000
OMXIMNIIE e SEXNHEHS 6,800
[ 3,400
= 3,400
A EXNFX FA 280,800 170,800 110,000
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2A:

ESAHNRPE

By exsx 2SN
gel: SR 2siE (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

= 90,400
=S 190,400

201 er23| 53,400 53,400 0
= 26,700
== 26,700

03 A= SHI 53,400 53,400 0
Otfet2I =2 aHH & DX KOREA 2024 &It 26,400
= 13,200
& 13,200
Ogsdy XA AoIL 7,000
[ 3,500
= 3,500

OFetel=a322a A, A=) =F

SAHEE 20,000
= 10,000
[ 10,000

202 04| 80,000 80,000 0
[ 40,000
= 40,000

03 =L R0 80,000 80,000 0
Odlel EX: X o] 80,000
= 40,000
= 40,000

301 EtE N = 22,400 22,400 0
= 11,200
< 11,200

08 212+91=2|044| 10,800 10,800 0
Oouztel =204t 10,800
[ 5,400
= 5,400

09 2Il=E 0| 11,600 11,600 0
OFXFX ARIEHE o 11,600
= 5,800
=S 5,800

308 AHXIEMSOIH 125,000 15,000 110,000
= 12,500
< 112,500

183 S| 2SO LHAEAIE 125,000 15,000 110,000
Odll2l S tat (Bfez SAHEE 3 15,000
[ 7,500
= 7,500
Odlel 8= HAl2l S SEXNFX 25 10,000
= 5,000
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2A:

E2Z A=A

3

. ENRK BEX
gelr SR s (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 5,000
OSSg U &H=Fd OBIE AL 100,000
Y 2IIH(S=IMA=TASHE) 3,253,451 3,437,777 184,326
el 2| 3,107,180 3,242,584 135,404
el =gl 3,107,180 3,242,584 N135,404
101 @124H| 3,107,180 3,242,584 135,404
01 2= 2,598,579 2,657,103 N\58,524
oJlzs 1,785,462
—HSH 899,575
3= 118,655, 7503 1 118,656
4= 105,656,000 *3& 316,968
58 77,325, 1203 +6H 463,951
== 885,887
-bg 4,960,000 «1&*12& 59,520
o= 3,736,900& x10E « 12& 448,428
= 3,033, 100& ~8H*12& 291,178
=) 3,405,200« 1H* 122 40,863
= 1,912,400 x2F ~ 128 45,898
od2=g 71,616
—280l44-340(2t
1,821, 00021 * 109231 *12S 365
—~3U0l A4l ot
1,853,000 x15%+22]x1H 556
—6=0la-740(2t
2,384,000 x30w+22]x1H 1,431
~BL10/41-9L10] 2}
2,562, 0003 *40%*22] *1H 2,050
~910/ 4100/ ¢
2,859, 000 x45k+22| x2H 5,147
—1080l2 3,651,000 x50%+22| x 17H 62,067
(OFSE.RaS) 273,441
-d2=ghts 22,920
255014 130,000 x4 x 122 6,240
-20H0l & 110,000& 52+ 123 6,600
1580( & 80,000 x2&* 122 1,920
- 10014 60,0002 +x8& * 12 5,760
- 5E 0] 50,0002 x4« 122 2,400
-liesFExE 8,841
6= (58UR)
3,526,000& 4. 1%+4 =123 6,940
72 (68UH<)
3,862,000 *4. 1% 1H 122 1,901
—IESE 50,880
- B X 40,0002 x25H 122 12,000
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FA SEBMAFAAE
B HHSAAY(BSINNRTEE)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
I PUE 30,0002 x22H 122 7,920
=L PE 70,0003+ 14+ 122 11,760
- SOl = XHA 110,000 x4 x 122 5,280
- JIEDEE 20,0002 x58F « 12 13,920
-S0tRA+E 40,800
-FHA=9Y g2 150,000
-3=00at 600,000 «1H =122 7,200
=] 500,000 x3E 128 18,000
520Iat 400,000 x26E « 12 124,800
Ozxu=z2e=g 193,260
—A22A2R5E 193,260
OF A S A 140,0003 <31~ 12& 52,080
OEZEFIH| 885,837,000& / 12+60%+23] 88,589
OS2 4| 45,511
- HSH
899,575,000 / 12+78%+*86%+1/30% 12 20,115
-3 =H 885,837, 0002 / 12%86%+1/30% 122! 25,3%6
OFS=L-EN.]| 88,620
-32 500,000 x1H« 122 6,000
-4z 400,000 «3H *12& 14,400
—-5= 250,000 «7H*12& 21,000
—6= 185,000 x10H 122 22,200
= 180,000 x7 =123 156,120
-8=~9= 175,0008 <32 * 128 6,300
- SYEXN ItA 300,000 «1H*12& 3,600
02 JIEtAE = 508,601 585,481 76,880
ogNNsRE 508,601
-Jl2s 426,044
Hge 1= 121,622, 1443 x1Y 121,623
534€(YIIM6=)
5,949,300 2H 123 142,784
624 E(YIINT2)
4,489,900 ~3E 122 161,637
-Eg 7,560
- BH Xt 40,0002 x4 * 123 1,920
I PE 30,0002 x4 122 1,440
- SMAHA 70,0008 +x38 * 122 2,520
- JIEDHEE 20,0003 7 * 122 1,680
- HSEANAZ NS 4,800
g Eis 400,000 «1H*12& 4,800
—Al2te2fE 28,330
- NS A 140,000& 62~ 123 10,080
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SN ESANNRTAE
B HHSAAY(BSINNRTEE)
chol: ol (19 @)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
— Aot &|
426,044,0002 / 12x78%+*86%* 1/30% 12! 9,527
RS r=1E | 19,260
IEE=IV ==Y
550,000& x1&~12& 6,600
- SSHE(IINES)
250,000 x2F 122 6,000
634 E(LIINTS)
185,000& 3+ 123 6,660
—elasd| 50,0003 x5 * 1200 2 3,000
JI=2&d| 146,271 195,193 N48,922
JI=2ZHl 146,271 195,193 N48,922
201 L2 19,081 35,593 A16,512
01 AtR2telbl 18,081 34,593 16,512
OJlE=3Hl 7,01
OJI2=gHl 11,070
02 324l 1,000 1,000 0
OfRER=S 1,000
202 044l 33,210 66,300 A33,090
01 =LA LI 33,210 66,300 A33,090
O21=204tl 33,210
203 gR=&| 65,180 64,500 680
01 D22 HHRFA| 55,000 55,000 0
o 55,000
02 IR R 1,480 1,400 80
OAE A A 1,480
04 PAE2EERFAH 8,700 8,100 600
OJI2dyg2 3,000
ONEAIHR 3,600
(OEONEINES 2,100
204 MRt FH| 28,800 28,800
01 Mg R3] 28,800 28,800
Oo12012%) 9,000
O3 (22E) 7,200
O4s 12,600
HREs(E=FHANRRYH) 150,000 0 150,000
LIS HeHKIZE 150,000 0 150,000
R HHXIE 150,000 0 150,000
705 Ol==&cl=ate 150,000 0 150,000
04 Al - SXISNE IS0 ==3 0| Ktate 150,000 0 150,000
OEFUMAHZ3elA 3K+ ZEAY 150,000
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